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Polynomutvidelse

(3x + 6)(2x + 2)(2x − 1) (4x + 3x − 1)(2x + 4) − 2 × 2x − 62

(6x − 3x − 5)(x − 4) − 4 × 6x − 32 (x + 5)(3x − 6x + 6) + (x + 6)(6x + 1)2

(4x − x − 6)(4x + 3) − 1 × 2x − 42 (4x − 6)(4x + 3)(3x − 3)

(x − 4x − 3)(3x + 1) − 4 × 4x − 22 (6x + 3)(5x − 4) − 4x − 3x + 52 2

(4x + 2)(5x + 2)(3x − 1) (5x + 5)(2x − 4)(x + 6)
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(3x + 6)(2x + 2)(2x − 1)

12x + 30x + 6x − 123 2

(4x + 3x − 1)(2x + 4) − 2 × 2x − 62

8x + 22x + 6x − 103 2

(6x − 3x − 5)(x − 4) − 4 × 6x − 32

6x − 27x − 17x + 173 2

(x + 5)(3x − 6x + 6) + (x + 6)(6x + 1)2

3x + 15x + 13x + 363 2

(4x − x − 6)(4x + 3) − 1 × 2x − 42

16x + 8x − 29x − 223 2

(4x − 6)(4x + 3)(3x − 3)

48x − 84x − 18x + 543 2

(x − 4x − 3)(3x + 1) − 4 × 4x − 22

3x − 11x − 29x − 53 2

(6x + 3)(5x − 4) − 4x − 3x + 52 2

30x − 28x + 12x − 73 2

(4x + 2)(5x + 2)(3x − 1)

60x + 34x − 6x − 43 2

(5x + 5)(2x − 4)(x + 6)

10x + 50x − 80x − 1203 2
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